Potencias de 10 (J)

Calcule los siguientes cocientes.

38100 80+ 10
55+ 1000 67 <1000
3+100 42 +-10
64+ 10 31+10
1710 45+10
68 =10 74 - 100
65+ 1000 4510
79 + 1000 93100
82100 61100
77 + 1000 62+ 100
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Potencias de 10 (J) Respuestas

38+ 100
0,38
551000
0,055
3100
0,03
64 =+ 10
6,4
17+ 10
1,7
68 = 10
6,8
65 = 1000
0,065
79 = 1000
0,079
82 =100
0,82
77 <1000
0,077

Calcule los siguientes cocientes.

8010
8
67+ 1000
0,067
42 10
4,2

31+10
3,1
4510
4,5
74 +-100
0,74
4510
4,5
93 +100
0,93
61100
0,61
62+ 100
0,62
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